More Circle Theorems #22

If two chords intersect in the interior of a circle, then the
product of the lengths of the segments of one chord is equal to
the product of the lengths of the segments of the other chord.
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If two secant segments share the same endpoint outside of a
circle, then the product of the lengths of one secant segment
and its external segment equals the product of the lengths of
the other secant segment and its external segment.
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More Circle Theorems #22

If a secant segment and a tangent segment share an endpoint
outside a circle, then the product of the length of the secant
segment and its external segment equals the length of the tangent
segment squared.
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If two segments are tangent to a circle from the same
external point, then the segments are congruent.
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Ex: Solve for x.
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More Circle Theorems #22

If a line is tangent to a circle, then it is perpendicular to the
radius drawn to the point of tangency.
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Ex: Solve for x.
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